Part Number Description Unit Of Measure Count Quantity Category

49-KH5070PP Bearing- Linear-Seal Frnt Strut-KH5070PP EACH 3 V8SC-FRT-UPR
49-PAP2020P10 Glacier Bush EACH 8 V8SC-FRT-UPR
49-PAP4040P10 Glacier Bush - PAP 404 P10 EACH 12 V8SC-FRT-UPR
49-PAP4530P10 Glacier Bush - PAP 453 P10 EACH 8 V8SC-FRT-UPR
49-PAP5040P10 Glacier Bush-Suit Strut Tube-PAP 504 P10 EACH 2 V8SC-FRT-UPR
49-PAPZ2416P10 Glacier Bush- PAP 722416 P10 EACH 5 V8SC-FRT-UPR
88-ADJ-RACK-5/8LH Adjuster Steering 5/8" UNF L/H EACH 5 V8SC-FRT-UPR
88-ADJ-RACK5/8UNF Adjuster rack 5/8 UNF EACH 4 V8SC-FRT-UPR
88-BLTM10X105UPRGT Comm upright Strut Tube Mnt M10x105mm EACH 17 V8SC-FRT-UPR
88-CAPSTRUTSMALL Cap EACH 31 V8SC-FRT-UPR
88-SETTOPSTRUTSP Seat Commodore Top Strut Spring Seat EACH 7 V8SC-FRT-UPR
88-TOOLSTRUTNUTOLD Tool - Strut B'tm Lock Nut Old Type EACH 13 V8SC-FRT-UPR
99-AADP2721-00 Adaptor Assy Pwr Stg Rack 27mm Offset EACH 3 V8SC-FRT-UPR
99-ADP2721-00 Adaptor Power Steering Rack 27mm Offset EACH 1 V8SC-FRT-UPR
99-ADP4412-00 Adaptor 5mm offset 70mm strut EACH 9 V8SC-FRT-UPR
99-APIN2236-00 Pin Steering 93 Comm Assy 13mm-M6.0 EACH 2 V8SC-FRT-UPR
99-ARM1043-10 Arm Steering Angled Strut Std - LH EACH 5 V8SC-FRT-UPR
99-ARM1043-20 Arm Steering Angled Strut Std - RH EACH 6 V8SC-FRT-UPR
99-ARM2447-10 Arm Steering Angled Strut Std Blank L/H EACH 6 V8SC-FRT-UPR
99-ARM2447-20 Arm Steering Angled Strut Std Blank R/H EACH 6 V8SC-FRT-UPR
99-ARM3450-10 Arm Steering VT Less Ackerman-L/H EACH 2 V8SC-FRT-UPR
99-ARM3450-20 Arm Steering VT Less Ackerman- R/H EACH 4 V8SC-FRT-UPR
99-BKT1178-00 Bracket 60mm Strut Tube - Pair PA 12 V8SC-FRT-UPR
99-BLK1479-00 Block Camber Adjuster 50.00mm Insert EACH 9 V8SC-FRT-UPR
99-BLK1906-00 Block Camber Adjuster 70.00mm Strut Tube EACH 16 V8SC-FRT-UPR
99-BLK1986-00 Block Clamp Power Steering Mount EACH 8 V8SC-FRT-UPR
99-BLT1307-00 Bolt Camber Adjuster 93 Comm Upright EACH 22 V8SC-FRT-UPR
99-BLT1478-00 Bolt Comm Upright Strut Tube Mount EACH 18 V8SC-FRT-UPR
99-BLT6202-00 Bolt Clevis Steering Rack 14x1.5 VY EACH 4 V8SC-FRT-UPR
99-BLT6253-00 Bolt Banjo Steering Rack Modified VY EACH 3 V8SC-FRT-UPR
99-CLV6205-00 Clevis Steering Rack 630 Ctrs VY EACH 4 V8SC-FRT-UPR
99-CYL1140-00 Cylinder Ohlins 50.00mm Dia Insert EACH 5 V8SC-FRT-UPR
99-CYL1942-00 Cylinder Ohlins 50mm Insert Lin Brg Type EACH 6 V8SC-FRT-UPR
99-FIT6252-00 Fitting Banjo Suit Bolt #6253 Rack VY EACH 1 V8SC-FRT-UPR
99-GUD1846-00 Guide Wheel Grp A 5 Stud Spindle EACH 8 V8SC-FRT-UPR
99-HSG1477-00 Housing Seal Retaining Ring 93 Upright EACH 10 V8SC-FRT-UPR
99-HSG1819-00 Housing Seal Suit #1117 Strut Tube EACH 9 V8SC-FRT-UPR
99-HSG1985-00 Housing Seal To Suit #1904 Strut Tube EACH 8 V8SC-FRT-UPR

Page 1 of4




99-LNK6204-00 Link Steering 1/2"UNF 422mm Ctrs VY EACH 4 V8SC-FRT-UPR
99-NUT1497-00 Nut M16 To Suit Ohlin Snout EACH 10 V8SC-FRT-UPR
99-PIN1419-00 Pin Lwr Strut Frt Upright 66.6mm (+7mm) EACH 7 V8SC-FRT-UPR
99-PIN1491-00 Pin Lower Strut Comm 93 Standard 59.60mm EACH 15 V8SC-FRT-UPR
99-PIN1559-00 Pin Steering 93 Comm 11mm - M6 EACH 12 V8SC-FRT-UPR
99-PIN1585-00 Pin Steering 93 Comm Strut 16mm EACH 23 V8SC-FRT-UPR
99-PIN1938-00 Pin,Steering 93 Comm Strut 10.0mm-M6.0 EACH 4 V8SC-FRT-UPR
99-PIN1939-00 Pin Steering93 Comm Strut 11.00mm-M6.0 EACH 5 V8SC-FRT-UPR
99-PIN1992-00 Pin, Steering 93 Comm Strut 12.00mm-M6.0 EACH 3 V8SC-FRT-UPR
99-PIN1998-00 Spin Steering Comm Std Front Strut EACH 4 V8SC-FRT-UPR
99-PIN2233-00 Pin,Steering 93 Comm Strut 16.0mm-M6.0 EACH 7 V8SC-FRT-UPR
99-PIN2234-00 Pin Steering 93 Comm Strut 15.0mm-M6.0 EACH 7 V8SC-FRT-UPR
99-PIN2236-00 Pin Steering 93 Comm Strut 13.0mm - M6 EACH 2 V8SC-FRT-UPR
99-PIN2237-00 Pin, Steering 93 Comm Strut 17.00mm-M6.0 EACH 8 V8SC-FRT-UPR
99-PIN2319-00 Pin Lower Upright 70.0 mm 107.55mm O/A EACH 11 V8SC-FRT-UPR
99-PIN2421-00 Pin Steering 93 Comm Strut 7.00mm-M6.0 EACH 4 V8SC-FRT-UPR
99-PIN2422-00 Pin Steering Comm 93 Strut 8.00mm-M6.0 EACH 4 V8SC-FRT-UPR
99-PIN2423-00 Pin Steering Comm 93 Strut 9.00mm-M6.0 EACH 7 V8SC-FRT-UPR
99-PIN2984-00 Pin Lwr Strut Frt Upright 70mm-107.55 OA EACH 9 V8SC-FRT-UPR
99-PIN3783-00 Pin Upper Upright 77.37mm 114.92mm O/A EACH 15 V8SC-FRT-UPR
99-PIN4247-00 Pin Steering 15mm - M6 FTR Falcon EACH 8 V8SC-FRT-UPR
99-PIN4400-00 Pin Lwr Strut Frt Upright 84.0mm 121.55 EACH 9 V8SC-FRT-UPR
99-PIN5942-00 Pin Pvt Upright 52.5mm (90.05 O/A) #5854 EACH 1 V8SC-FRT-UPR
99-PIN6221-00 Pin Lwr & Upr Upright 69.8mm (107.4 O/A) EACH 20 V8SC-FRT-UPR
99-PIN6570-00 Pin Pvt Upright 62.5mm (100.05 O/A)#6568 EACH 4 V8SC-FRT-UPR
99-PIN6571-00 Pin Pvt Upright 72.5mm (110.05 O/A)#6569 EACH 4 V8SC-FRT-UPR
99-PIN7602-00 Pin Pvt Upright 93mm 130.55 O/A Lrg Flg EACH 3 V8SC-FRT-UPR
99-PIN7603-00 Pin Pvt Upright 95mm 132.55 O/A Lrg Flg EACH 3 V8SC-FRT-UPR
99-PIN8984-00 Pin Frt Lwr Shock Porsche 962-WPMS EACH 1 V8SC-FRT-UPR
99-PIN9015-00 Pin, Steering Comm TMS Upr 19.0mm-M6.0 EACH 8 V8SC-FRT-UPR
99-PIN9016-00 Pin, Steering Comm TMS Upr 9.0mm-M6.0 EACH 1 V8SC-FRT-UPR
99-PIN9041-00 Pin Pvt Upr 1190/A 5/8F LrgFlg TMS EACH 1 V8SC-FRT-UPR
99-PLT1483-00 Plate Clamp Comm Camber Adjuster Block EACH 48 V8SC-FRT-UPR
99-PLT1917-00 Plate Clamp To Suit 1906 Camber Adjuster EACH 104 V8SC-FRT-UPR
99-SET2299-00 Seat Spring Upper Early Grp A - Alum. EACH 3 V8SC-FRT-UPR
99-SNT1139-01 Snout Shock End Cap 50mm Dia Ohlins EACH 3 V8SC-FRT-UPR
99-SNT3063-00 Snout 50mm Ohlins To Suit #2558 Banjo EACH 6 V8SC-FRT-UPR
99-SNT4333-00 Snout 50mm Dia Penske Linear Insert EACH 4 V8SC-FRT-UPR
99-SPC1204-00 Spacer Lower Strut Pin Ford 51.64mm EACH 6 V8SC-FRT-UPR

Page 2 of 4




99-SPC1317-10 Spacer Brg Front Small 93 Upright EACH 14 V8SC-FRT-UPR
99-SPC1412-00 Spacer Suit Steering Rack Adaptor EACH 18 V8SC-FRT-UPR
99-SPC1420-00 Spacer Lower Strut Pin 31.15mm 35mm Dia EACH 8 V8SC-FRT-UPR
99-SPC1918-00 Spacer Lower Strut Pin 24.67mm (+0.5mm) EACH 2 V8SC-FRT-UPR
99-SPC2068-00 Spacer Lower Strut Pin Falcon 20.00 mm EACH 10 V8SC-FRT-UPR
99-SPC2073-00 Spacer Lower Strut Pin 24.15mm 49mm Dia EACH 8 V8SC-FRT-UPR
99-SPC2352-00 Spacer Lower Strut Pin 31.15mm (+7mm) EACH 11 V8SC-FRT-UPR
99-SPC2354-00 Spacer Lower Strut Pin 33.15mm (+9mm) EACH 1 V8SC-FRT-UPR
99-SPC3064-00 Spacer,Sph Brg Top Strut Mount 2581/3063 EACH 22 V8SC-FRT-UPR
99-SPC3386-00 Spacer Lower Strut Pin 49mmx21.65mm EACH 6 V8SC-FRT-UPR
99-SPC3387-00 Spacer Lower Strut Pin 49mmx28.65mm EACH 3 V8SC-FRT-UPR
99-SPC3747-00 Spacer Strut Tube Lower Mount EACH 5 V8SC-FRT-UPR
99-SPC3782-00 Spacer Upper Strut Pin 35.75mm 49mm Dia EACH 21 V8SC-FRT-UPR
99-SPC4826-00 Spacer Lower Strut Pin 31.15-M50x1.5 EACH 6 V8SC-FRT-UPR
99-SPC5750-00 Spacer Lower Strut Pin 24.15-M50x1.5 EACH 2 V8SC-FRT-UPR
99-SPC6978-00 Spacer Lwr Strut 3/4" x 57.0-M50x1.5 EACH 1 V8SC-FRT-UPR
99-SPC7224-00 Spacer Lower Strut Pin 45.0-M50x1.5P EACH 6 V8SC-FRT-UPR
99-SPC7510-00 Spacer Top Strut 5/8 Sph 34.0mm-12.7mmID EACH 5 V8SC-FRT-UPR
99-SPC7511-00 Spacer Top Strut 5/8 Sph 44.0mm-12.7mmID EACH 3 V8SC-FRT-UPR
99-SPC9486-00 Spacer Lwr Strut Pin 47.0-M50x1.5P,3/4" EACH 4 V8SC-FRT-UPR
99-SPN1190-00 Spindle Front LH Suit 5 Stud Upright EACH 2 V8SC-FRT-UPR
99-SPN1191-00 Spindle Front RH Suit 5 Stud Upright EACH 2 V8SC-FRT-UPR
99-SPN1192-01 Spindle Front LH Suit C/L Upright EACH 7 V8SC-FRT-UPR
99-STD1406-00 Stud Suit #1405 Steering Rack Adaptor EACH 2 V8SC-FRT-UPR
99-STD1480-00 Stud Caliper Mount M12-7/16"UNF 91 Long EACH 5 V8SC-FRT-UPR
99-STD2536-00 Stud Wheel Perkins Type M12x1.5P EACH 4 V8SC-FRT-UPR
99-STD3689-00 Stud Caliper Mnt Frt Brembo Lower. EACH 12 V8SC-FRT-UPR
99-STD4507-00 Stud Caliper Mount M12-7/16"UNF 74 Long EACH 13 V8SC-FRT-UPR
99-STD4530-00 Stud Caliper Mount M12-7/16"UNF 80.6 Lon EACH 6 V8SC-FRT-UPR
99-STD4580-00 Stud Caliper Mount FTR M12-7/16"UNF 87.6 EACH 4 V8SC-FRT-UPR
99-STD8176-00 Stud Caliper 7/16UNF/3/8UNF 92mm OA EACH 12 V8SC-FRT-UPR
99-STD8521-00 Stud Caliper Mount M10X1.25-3/8UNF 80 OA EACH 2 V8SC-FRT-UPR
99-T004827-00 Tool Lower Strut Pin Spacer #4826 EACH 1 V8SC-FRT-UPR
99-UPR1628-00 Upright Frt V8 S/Car Semi-Finished EACH 4 V8SC-FRT-UPR
99-UPR1628-00-ALUM Upright Frt V8 S/Car Semi-Finished Alum EACH 4 V8SC-FRT-UPR
99-UPR4913-10 Upright Frt Grp A Commodore L/H 180/210 EACH 1 V8SC-FRT-UPR
99-UPR4913-20 Upright Frt Grp A Commodore R/H 180/210 EACH 1 V8SC-FRT-UPR
99-UPR6217-20-ALUM Upright Frt Blueprint R/H V8 S/Car ALUM EACH 1 V8SC-FRT-UPR
99-WAS3073-00 Washer 16 x 23 3 Shock Snout #3063 EACH 18 V8SC-FRT-UPR

Page 3 0of 4




99-WSH1478-00 Washer Comm Upright Strut Tube Mount EACH 35 V8SC-FRT-UPR
99-WSH1940-00 Washer To Suit #1938-1939 Steering Pin EACH 28 V8SC-FRT-UPR
99-WSH2353-00 Washer Thrust Lower Pin Suit #2352,4826 EACH 37 V8SC-FRT-UPR
99-WSH6016-00 Washer Thrust Lower Pin Suit #5942 EACH 5 V8SC-FRT-UPR
99-WSH6222-00 Washer Thrust Lwr & Upr Pin Suit ABWT12 EACH 38 V8SC-FRT-UPR

Page 4 of 4




